FALARRTY a—)

Aa—-} Ba-}
A | W F—24 FhRL F—L4 F—L4 (S F—L4
9:00 B & &
1 9:20] Al | $HENRAL—Y P27 | 6 | —| 4 | A2 WMATY =X M| KPRy YR=V257 | 6 |—| 1 | AT BorRyvvaz7
2 30] A5 | XYY —Vaz=T 1| —| 3| A6]| wwssreriyex-va=r | Bl | HE&VOR—N—=774¥%—X| 3 | —| 5 | B2 ELDBCY 2. =7
3 40] B3 NISHI Jr R —X 4 |—| 6 |B4 J-Shimozeki B5 R~ v 7 20-10 1 |—| 7|86 Xk~ —Y > Xr
4 500 AL | $HEARAL—Y V227 | 5 | —| 5 | A3 AT KEERR T ¢ . A2 YHTH v —X T1—10[M]| KRMFyYR=NI57
5 10:00] A6 | HEFAYEL KHLZ-VazT T1—=1 0] A7 BotRKyvvaz=7 (1 Zerol¥» X 71—101|c2 FHRYAYEY KHL X - %9 X
6 10] Bl | HEOR=N=T7 74 —=X| 4 | —| 6 | B4 J-Shimozeki B2 HHDBCY 2. =27 4 |—| 4 |B6 Kk~<—1 > RXr
7 20] B3 NISHI Jr R —X 71—1 0B85 = v 7 Z0-10 AL| $HEANS L= V2= | T | —| 0| M| KMRyYR—NI5T
8 30| A2 WATY v h—X 6 | —| 3| A6| mwytverryrz.-vaz=y | A3 BALOKEERE T 1. 6 [—| 0 [A5] #RYLY—Va2=T
9 40] €2 | HEWHIYEZFFIR-FvX 0| —|5]|¢C Zerol¥ v R Bl | HBEVOA—N—=T7 74 %—=X| 5 | —| 5 | B6 Kk~ —Y > Xr
10 50| B2 EOMDBCY 227 2 |—1| 3|83 NISHI Jr R —X B4 J-Shimozeki 5(—| 5|85 i~ v 7 Z0-10
o R [ (~11:15)
11 | 11:15) AL | $HEINRS L—Y V27 | 6 | — A5 | R LY —VazT | A3 WAEDRBERET ¢ . 6 |—| 0|AT| BorRyyvaz7
12 25| M| KM Ry YFR—NI57 | 2 | — A6 | H#FtYELFYLZ-vazy | Bl | HEOR—N=T74¥—=X| 6 |—| 3 | B5 e~ v 7 Z0-10
13 35] B2 EOMDBCY 227 4 |—| 1|84 J-Shimozeki B3 NISHI Jr A% —X 4 |—| 3 |B6 Kk~ —Y > Xr
14 45| A2 MATY v Hh— 6 | —| 6|43 KAMEDRBERRT 1 . AL | MRS L= Va7 | 4 | —| 3 | A6 | mwy1vErkyox-vazy
15 550 A5 | fRY LY —Vaz=T [T | —| 0 |AT| BoTFyYyvaz7y | 02| #wyverksex-%s% 0| —| 7 |c Lerol3 v X
Bt I [ (~12:45)
16 |12 :45) AL | $HEARAL—Y Va7 | 6 |—| 1 [AT| BoTFyYvaz7 | A2 WATY v —X 6 |—| 3|45 FRILY—Vaz=T
17 55] A3 MARDORBER T 1. 71— 0[M| RMRyPR-NIS5T7 | B2 HMDBCY 2. =7 71— 1|85 i~ v 7 Z0-10
18 | 13:05] Bl | H&OR—N=T77 4% —=X| 3 | —| 6 | B3 NISHI Jr A% —X B4 J-Shimozeki 4 |—1| 5|86 KkE=—1 > RJr
19 15] (1 Zerold vy X 8 | —| 0| 02| =mWrrrerryerx-xvyx | A2 WMATY v h—ZX 71— 5|AT| BoFRvPyaz7
20 25] A3 KAEDKBERRE T 1. 6 | —| 0 [A6| smwrsverryrx-vazy | M| KMRyTR—NIZ7 [ 1 |—| 5 [A5| @RI LY —Vaz=T
# G B[ (~13:50)
21 | 13:50 AY —71hE - B Y —74fi BY—714i - AY =T
22 | 14:00 BY —272f; - AV =73 AV —720% - BY —73fi
23 05 A1 B DM — A2 5 DM B2l & OsE — B2 & 0OME
14:25 -
24 A23RE DI - B23 & DE
BB
15:10 M a L - i




BISEIRRILZ Y F BIWRY 2=7 Ky VR— VK&
[F8Y —F&] FR26AEIZHTH (1)

RERARKEILZ Y F W (5258 L 1L 2)

[7 B 2DH]

AV—r Al A2 A3 M A5 A6 AT | o | (] PRaO T | e
Al BHE/SA L=y Y2 =7 6‘?‘4 5‘6‘5 7‘?‘0 6‘?‘3 4‘?‘3 6‘?‘1 sl1ofn]s - 16| 1
A2 WAT Y v h—% 4\i\6 6‘6‘6 7‘?‘0 6‘?‘3 6‘?‘3 7‘?‘5 a{1f1|9]36 - 23| 3
A3 BALOKEERET 1. 5\6\5 G‘f‘ﬁ 7‘?‘0 6‘?‘0 G\C—)\o 6‘?‘0 412|0(10|36 - 11| 2
M KM Ky RN 7 57 O‘f“ O‘f“ o\iw 1\i\5 2‘i‘5 G‘C_)‘l 1lofs5|2]9 - 32| 6
A5 WY Y —Ya=7 3\i\6 S\i\ﬁ o\i\e 5‘?‘1 1\i\3 7‘?‘0 2|o0|4]|a]1y - 22| 5
A6 | HRYAYEL KPP Z - VazT 3‘f‘4 S\i\ﬁ o\i\e 5‘?‘2 3‘?‘1 7‘?‘0 3{of3|6]|2t - 19] 4
AT ot kyyvazy l\i\ﬁ 5‘f‘7 o\i\e l\i\ﬁ o\iw o\iu ‘ olol6lof7 - 39| 7

BY —7 B1 B2 B3 B4 B5 B6 w | o | e o BE |
Bl| »30R—r—7745—X 3\i\5 3‘f‘6 4‘f‘6 6‘?‘3 5\6\5 NN EEEEIE
B2 HHDBOY 2 =7 5‘(_)‘3 z\i\zs 4‘?‘1 7‘?‘1 4‘:4 N EEEREE
B3 NISHI Jr 2% —% 6‘(_)‘3 3‘?‘2 4‘f‘6 7‘(_)‘0 4‘(_)‘3 N UNEEERIR
B4 J-Shimozeki 6‘(_)‘4 1\i\4 6‘9‘4 5‘:5 4‘i‘5 M EEEEIK
B5 BB~ ¥ 7 ZU-10 3\i\6 1\i\7 O\i\7 5‘:5 1\i\7 NN
B6 Jelye =) > Zr 5‘6‘5 4‘f‘4 3‘f‘4 5‘?‘4 7‘(_)‘1 S~ - s

[ —EZXDH]

cYy—7r (1 C2 w | o | e o BE |
(1 Lerol¥» % 7‘(_)‘0 5‘?‘0 7‘(_)‘0 8‘(_)‘0 4008|271 - o0f 1
(2| HEYAYELEFLZ-Fv X X X X X ololajolo - 2| 2

ol —J7lol—[s]ol-[7]o0[_]8




BISHREILZ v F BILRY 2=27 Ky VYR—)IVR& FHRGEI12HTH ()

BRARKBINZ Y E N (55X RLA]

BB h—F X b s KATDOKEERE T 1.
g | RN L —Y Y 22T
3L BRDBCY 2 =7
30 NISHI Jr 2% —Z

1y b> 4 6
2ty b> 7 5
3ty b s 4 s 5
A24
s 2 s 1 4 5
23 B23
7 1 6 0 5 0 5 2
A21 A22 B21 B22
AlfE B 4 fif B 2 fif A 341 B 141 A 44k A 24 B 3%
g J ] 7 N i i %
W - B H I i It %
N N D 7 S 4 D N
1 h 4 I
: B ¥4 H A
%2 i > Y )
| m ‘Q I E® BE v
% 0 v vy > Pt Z
¢ . E3 ] J N J J
2 e = 4 r A r r
= k 7 v
7 i Z 4
Y4
| %
. N
A =
7




